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N.B.: 1. Solve all questions. Each question has internal nptmns
2. Workings should form part of your answer. 3

1. a) Match the following (Any Eight) : :-' A ."77.: (08)

Group A '@ Group.B
1) | Terms of redemption a) | Npt redeemaﬁé
2) | Revaluation Reserve b), | One mode of redemptlon :
3) | Cumulative preference shares Py ,"Transfer to. &apﬁal reserve .
4) | Issue of shares 4 d) 7fSpécify atissue SO AN
5) | Discount on buyback < Je) | Not treated as ﬁ'ésH\lssue S HSx
6) | Maximum amount S 2 14D _Notad1v1sible profit SIS
7) | Capital redemption Reserve {8 | Dividend accmmllated |
8) | Equity Shares ._3,; (< [h) | Net Assets \/alue O,
9) | Receiptof call money = = [ ) | 25% of“capxtal phis free: reserve
10) | Intrinsic Value >‘_f,_.-' Sl ej) Requned for redemptmn ‘out of
S TS f il s T
b) State whether followmg statements are true or fai’se (Any Seven) . 07)

1) Goodwill cons}sts of th&supcr earmng power 2

2) A compaﬂy«\cambuy back any secunty & F
3) Bonus shar’ y sanbé lssued out of CRR " Vg "‘\'
4) DsEen‘tures $annot bc exchanged for new shares

‘}

5) \FMP 'Bc')nsxdf:red in valuatlon of Gobdwnl]

6): :r‘*E\un}fSMES ﬁ:an be redecmed by a wmpany
_;,7} Débénl‘ures Can be redeemcd at dlscount
8) AR Gu dw'_‘ 'lsfﬁ‘ctltxous asset ;

Ay $ 9) Aﬂer huy baek, Debt- Eqmry rauo should not exceed 2:1.
k) 0) Capita} reserve 43 a d1v151ble prnf‘ t

\

ST L:td Brﬂ}vldﬁﬁ” y@u thh fbllmeg Balance Sheet as on 31 March 2017 : (15)

\h D :;.":"'“I}’lﬁhllitiés ST Assets ¥
O 3’730;, Equny sﬁqtés of 2*100 -3,75,000 | Goodwill 52,500
Bmﬂt»& Lesg Alc\ o] 90,000 | Land & Building 1,50,000
SR S”und{y Crecﬁtors & ] 1,35,000 | Plant & Machinery 1,40,000
AR Bank oVeramn g0 9 30,000 | Sundry Debtors 1,27,500
S ESR s Bank 10,000
§ N Total | 7,20,000 Total | 7,20,000

\» : »
: TURN OVER
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Ascertain goodwill of the business by :
a)  Capitalization of average profits. *,
b)  Five years purchase of super profits.
¢)  Capitalization of super profits. g
OR Ot ELIL S F I ¢
2. Following figures are extracted from Balance Sheet qf KM Ltd as 011 3 l 0 M:su‘c]mj “201 T - (15)

Share Capital : Pk
i) 9% preference shares of VSO 2T g4 rt ..3,00,000
ii) 10,000 Equity shares“cf%'lﬁeach %5 patd up S 50,000

iii) 10,000 Equity shm;mf Z10 each'2.50 paid up’ 25,000
iv) 10,000 Equnty sﬁakqs of ? 10 easch fully paid up 1,089,000

.| Reserves and Surplus,. AT Py e o
i)  General B.gst;wcs Wy : SO S ' 2,00,000
ij)_Profit &Loss A - PR O FFETE 50,000
RS ORI T Fotal 7,25,000

On reva&luatyen:ﬁfass‘ets as on 31 03 2017, 1t was found that they had appreciated by
75,000 6V\§r thelr V@lhc in ag’gregata '
You are réqf ired to caibulate yhlue of each equxty share

3 SK Ltd- a deb{company, det:xded to buyback I 00 000 equity shares of €10 each at 20%  (15) ‘
premluln T’he, balancésbn acr:ourtt were.

\

\z -'.',,‘

2" "'/?\ &8 n Partlculnrs ' T

o _.?shhfe capuai -"5;_ 50,00,000
3 Q’;"Se‘gu’htﬁ:sPrémiurn SeET T 1,10,000 k2

Genéral Reserve: 7,00,000

. Dividend Equaiizaleere&erve - 50,000

S S bl i 1,00,000
T e apitak Redemphpn Reserve 1,60,000 ,
o Profit B Loss ATeT D - 6,00,000 i

/ Y@u"ﬂr»‘:'q‘equlreé to check whether legal requirements are fulfilled and pass the i
e ssary bumal éhtnes &
o OR

TURN OVER
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3. Following is the Balance Sheet of NG Ltd. ' i _
Balance Sheet as on 31 March, 20;7;‘5,.? SRR L
Liabilities T Agvety VOO S ETS B

oo

Securities Premium 2,50,000 SRR STERNE R
Profit & Loss A/c | 1,25,0004 5 AT
Secured Loans : Y o A

T

12% Debentures 18,75,000

—

Ul’lSECU[‘ed Loans ]0’003090—_11 '. e s
Current Liabilities 16,50,000.{ < . T T

The company wants to buybacl_(gr‘t‘laximum -'r;ﬁmber, of EquxtySI‘;ms at maximum
possible price as per applicable p;gviis%bné:_t 6@1@1@@_ maxuhum number of sharesthatcan
be bought back and the price t}mieanbe Qf‘féréd‘for the buyback DS

Also show journal entrﬁi,é,s‘ .f(fir;;tﬁé bﬁyback I

# RKLtd. Issued ¥ 2,00,000 redecriable proference shates at par ol 14 January, 2010,

T the,q’hﬁgn Ef‘thecompany Oh‘-ﬂl':-aﬁér-B‘Elrsfiﬂédtﬁ.’mééi:;u;iO] 5 in whole or in
The comfany madeYllowing redempions ot of profi .

R S0000n 308 e, 2017
Thec L :

~ Deé‘cmber ’ZOITWESS Edeqult}’ s]?arsjés ,df the face value of 40,000 at a premium of

3 e .\.”: < 2 o % L )
ompany écided to redeem all the femaining preference shares oy 3t
: o LN - Y . ’ ¥

debenture finance usage over the varioys

A
YR AT
g dal

- Youarcaskedto :

P repé,re Statement for write off of discount over the period of five vears,

; 2) :.'\_Hgésjgpi;)‘i‘opriate Journal entries for first ang second year,

823882DC696‘JBD73 ESDDAA?FGF75C23 B

Equity shares of % 10 cach 12,50,000 | Fixed Asséts” = = 46,530,000 £
Revenue Reserve 15,00,000 Curre_r‘;t; Asse“ts A -. _10’00,000

o

_Total [ 76,50000 =" = e Total |~ 76,50,000 |

(15)

TURN Qv
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S. a) What are the provisions of Companies Act, 2013 about

shares?

b) Explain methods of valuation of shares.

5. Write short notes on any three :

a)

Capital Redemption Reserve.

|
D

:
S o
s 2
R
g9
i =R =
R
2%
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Duration: 2% hours

Q. I. A. Fill in the blanks with suitable optmns. (Any Elght)-
1) A/An ..,

a business meeting.
(Notice / Resolution / Agenda) AT
2) A Structured Interviewis ............ % &

3)

4) o Tt iste

& candidate for the Jol{qsa_.echon / Exit / Appraxsal)"; 'S
5) Conferences prov,fdeg‘ﬂ#a[hz&k ba_se Tar '
(Semmars/CoQ}r@taesByJﬁpqsiaj LS

/.A7

6) Business ma?tmgs ilqz\fﬁﬁf;m

(mdeﬁmte A\dsmm@t l\ﬁqu)
3 A Gr gup-mtbymwissnmﬂar fq&. o

e e’ (‘\ .

Intemew Smmﬁned Intervieyvj

\\...\;.

8) Sugge thnms are an exzample of

\_\“

%.m‘wafmnwm / Angzag_)' U L, 3 }_:. ;
X mCaﬁiggué P"qce-hst aﬁd?roduct Literature are sent by a seller in response to a

\‘?e.- r\/"‘"'

5 «.(Order/ Compiamtllnqulry)

i ey (need based / choice based / quality based)

©07)

2 ‘L‘,ja) Vote of Thanks

b) Review of Performance

c) Open House

d) Outgoing Employee

e) Give Latest Developments
) Proposal

g) Exchange of Views

h) Discounts

i) Group Discussion

b)) Video Chat

Page 1 0of 3
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Q.2 A

Yl nﬁmn@ Is.ﬁl,haﬁ ]&aﬂf hxsfeiephone ‘bxll m time, yet his telephone line

&Y v ‘\

a successful conference.
OR

What is a Grievance Interview? Why ehould-flh' be: cohduﬂed??
Define Public Relations. Llst and explam iny ﬁ*vﬂ tneasures"w '

An educational institution mqulres bne _hun?ire(i and ﬁ,\ﬂ,y ﬂes‘!i ) AT
for its classrooms Draﬂ a Lettqraq nqm '_ addfesfsed to“Eamaps Furmture

‘ 3

On checking the cans afhoniQMﬁ Gupta reahzé& thaf Qme c%.né L
sold to h1rn were ZQ days@aﬁ then‘ exliiry datg E)tgft aiuéttenof ,

(10)

(05)

thg emlmqe“ﬁlayom (07)

7 b

dfsé’ggnecwd on charges of non—payment This has happened

\...’\

> ﬁrw _ hit ansecutme month Draft a letter on his behalf

& Sdmd m.ihe bons’umer Redressal Forum seeking compensation
fﬁﬁﬁ@‘hﬂrﬂﬁmﬁm ,:«md ,‘mmcdlate restoration of the connection.

(08)

07)

Page 2 0f 3
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D. Summarize the followmg passage: :f:- A

LS spmtuai and mcntwna'

development of the child, but also advaeaﬁ \yomcn,s cdueatlon as Well as _
V3T AT e X
education of the masses. The essenhal ch&ractar,tstms of ﬂic\ edu(;atlonal

through nature and natural propeﬂsmesfwm an ;deallst v:ew pomtf:he msnstg:d

T~

that the aim of educatnonnwas to- deve]op .th chxld wlﬁ*)'-»moral'a”ndsplritual
empl ' 'n ‘&%f'xlfWestem

qualities. From a Pl‘agmattst 16 foche

< education of technolbgy‘-;ic
prosperity. In short;ijrs; "bc émphas:zed sp.mmal develapment then natural
propensity, aﬁcf“ 'thqt sﬁl“sty\of Iﬂ‘g and then solvmg the problems of food and
clothing onﬁmhzgs&é&’ LSOR ‘ ot

“the ﬁ@tion can néver move fox‘“wa:d The important features of his

~ .&gﬁegr@‘fgr féma}e educatlon are ‘Make women strong, fearless and conscious

. _'(-}le éf‘ a Chairpérson in a Business Meeting
S Q“Appra;sa] fnt&rwew

(A

F uncf?ons of the Public Relations Department of an Organization

e
~
) Ty

%

fas

- f
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Time: 2 ' hours

Note: 1) All Questions are compulsory. )
2) Figure to the right indicates full ma;ksh 2

1.A Choose the correct alternatives (any eight)

@

means integrating the national ecoﬁgmy‘ mth t,be ‘wor]d qé%ﬂamy
(Globalisation, Privatisation, Soc:ahsatlon)

(i) farming is undertaken by“large ﬁrms el
ortaking land on lease basis.
(Corporate, Contract, Mutual)

(iii) Human Rights have
(Social, Political, Umversal),;

(iv)  The General Assembly qefqﬁ’hﬁ thg‘UDHR‘Dn
i (10 December, 11t M ﬁ“’ Qec‘embc‘

v) deg@éb ﬁsﬁm

(vi) ﬂig@ﬁ‘f e’fg'sl;t;aﬂdhxp betw:e Qrghnlﬁhg and their environment.
Bnologg, ﬁmodﬁg?, é@logy) 3 TS RS e T

KAy S "-“hgb_ 'éneralmanons or assumptlons about the characteristics of traits
St NP
}:‘13‘ S0 W bé}onﬁigg% & group;
:‘\ ;51 @@@o types; Piot s-Socnotypes)

W)
% ol
§ 3 i3

-.

AR g FRY G ¥ g o

e k{Phs}""ogib ,§on Se{f~actuallsatlon)

* rN

’-‘» \Q )

thnjie;ﬂe in taking risk.

r§ Addressors)

.r‘fhé ﬁaté‘ment is True or False (7)

\\\J pi’aih js a positive impact of globalisation.
r ngnnigga&xon means moving into a new country.

Page 1 of 4
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(iii)  The UDHR consists of 28 articles.
(iv)  Writ can be issued only by Supreme Court. TN
(v)  Abiotic components are non- -living compound and physm@cl@meﬂtmn “th
environment. P i
(vi)  Atmosphere regulates the global temperature.
(vii)  Environmental factors are only factor causing streSS.
(viii)  Eustress are also known as negative stress. :
(ix) Maslow’s theory is on Human Motlvatlpp :
(x)  Meditation is an effective method of reheving sfm s

2. Discuss the concept of prwatlsatxon Hi

ghﬁg}it the advantages and disadvantages ,
privatisation. R oA N AV A s Py

Explain the concept dﬂmmaﬁ rights; What b the_;mgoﬂa&t 1aﬁémarks in the
development of qu n i I‘Ights‘? ;

4. What is Sus&éinahf : \Qevel
Developme :

(15)

Whﬁ} g{g\tﬁc causes 'of‘@ggressmn and ymlenc&‘? DISCUSS measures for resolving
aggréskiqnﬂld s

g’ olégé‘ea' Gclety

~ -
5, 't*\ oy ““j“'

s7 D*Setis&tattbus stratéges to reduce stress. (15)

st o ok ok o ok ok o o o ok

Page 2 of 4
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Q-:”}«dee 33102 3 ¢

[Time: 2:30 Hours] ) $ '"‘\4\ A S “":[ Mafké;?ﬁ]-
Please check whether you have 2ot the fiighf questlonpaper VS | |
N.B: 1. All questions are compulsory. RSN SR e

i

Q.1 a) Fill in the blanks. (Any 8) A O YIS I R 08
L law refers to the body of rules thﬁt'détémﬁnértﬁé‘ rights and db[ig&uﬁn of:
individuals and collective bodiegy” .+ 5. DD A VS DD S g
) [ — laws deal with the method and means by wl;icb:suﬁs,tantivﬁ_law is’ administered.

L) ;

3) The constitution of India provides for a se-ceioias fotmof Bovernment with a fairly
strong Centre which playsa dominant role. e A S

4) The role of the Judiciary is not ghly to dispense s-e--etoe. between individuals, but also
between states, between:states and indiyiduals: RS S

3) “Every promise and every set of prohuises, forming Consideration for each other is called
T I— s VSTl B O P AT ST SIS

6) A contract whieh ceases to be enforceable by lawbecomes-oaia

7) For a contraet; &t g essential. ~ 0 WA S

8) If conditigni'pf;gvbﬁft is certain, it is not a <m-meoteee 3 BONtTAC,

7) Price means, &—-ir--._gonsideration for sale of goods.
10) When:a bill of exchange is drawn, accepted or indorséd without consideration, it is called
8 S Pl £ S o TS e S

b). True or False 0075 3 IR RSN
LN SO AT S S T 0 D o
lyNggoﬂablghIstm‘mems Aet does not recognize crossin g of cheques.
~ 2y Astateméqtinthefonhof request can constitute a bill of exchange,
5@ 38 T'r%igiéf_é)g}_dfﬁipperfy irv the goods is the most crucial aspect in a contract of sale.
Pan -1)\:-"R:jg‘!itqu;jien'-,rgggnfs;,.,‘fri‘gh’t‘tt‘.'r' rétain-the possession of goods, until the claim is paid
TR ST 0 S
oS ‘.:"\'.5‘);;},‘[}.13 ‘pé_g;spp‘yvhqﬁgéhvé\rs';he £00ds is called the, ‘Bailee’.
NS0 /hien'a guarantee extends to:multiple transactions or debts, it is called as,
S Sspeciala simple goarantee”,
FF ?)Ami‘nor*s,agmcmen% is not absolutely void, there can be specific performance of such an

N

VS OBgrebipent: o . A

" SJ\Thecgasﬁmngnhas éiﬁﬁowered to declare, three types of emergencies, viz National,

% *

o

S
g

o Suteand Financial.-
IS < 9 '_}_«?\I;piqlé;g:‘-l47&-_i61;~i~‘g‘hlights the principles of equality, applicable to al] citizens as well as
~ L notuitigens, -
Lk ,Ni"tﬂ);EVcW‘emmaét»‘COnsists Iwo parts, namely promise and consideration for promise.

Page 1 of 2
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Q2

Q3

Q4

Q.5

a)

c)
d)

a)

b)

QP.Code:33102

Explain the Indian legal system and give classificat.i.(ji"'ijp\féguféé?‘iﬁf:'\lndia; :
Explain any 3 salient features of the Constitution of India and ‘Rig,

and
article 19 of the constitution of India. "

o~
A

L A
T

e

Explain briefly the right to constitutiog;a'l‘jrtni‘édi'gé undel‘artl"clek 32&11(!“2

-xplain the Preamble of the Constitution of India and Article 136 special Jeave:to Appeal

to Supreme Court,

e
g

What is a Contract? What is the dif} ren;
different types of contracts?, .

What are the exceptions t0 the rule
consideration or unlawﬁ:fcih;n&{" A

~

oF AN A

What is Misrepresentation? {Egija“iéiij}ﬂae-typés‘f,éz?mlstikég;7

S

Deime, s fo;_ltjn_ geﬁ teﬁhf ms"'}stat"é\them les“r Nj e fi’ o .
& Do SOnets Y, Sta SIS ng "Contingent Con
,\ﬁg\: .-‘:_-_",\ b AL AN : d n‘,

L E S R AR

S il e A ) 2 0 3 \_ VAT "‘ah\' L
Wi are Ui éssenfial eatures of guatanites and the kinds of guarantec?
What are the rights of surety and circumstances under which surely is not discharged.
L. B P sl OR l:.:‘;\'.:-\\,

¥ La A .,
e wl PR
, : S .

P g g G i
ne; fma;i‘f-gsmt_e;tbg'gss\ennals and types of Bailment,

ﬁ:@}n“%ﬁ\odqf csreahng an agency a‘ndgiow is an agency gets terminated?

£ -

ong ?ﬂa;vaﬂ'ant’yalong with its types.
QVSNED. 07 < 8

OR

Page 2 of 2
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Note:

1) All questions are compulsory with internal option.
2) Figures to the right indicate full marks.

LBERE
- Q.P. Code: 35132

Duration 2 %2 hrs

" Maﬂm: 75

8 Marks

Qla.) Match the Column:-(Any 8 out of 10)
Sr. No A e AR
| Fund transfer ForeignsBank = -
11 Recurring Deposits Flexi Deposits ey
111 T-Pin RlSk management tool s
v Standard Chartered Bank Not to allow profit = ‘
ety Hybrid Deposits TIRDA e ;
R Risk Financing oy Mmlmum pald up Capltal hfe- msuranc:e
. VII | Indemnity R :_'1938 : :
VIII 1999 g NEFE: - ,
IX Rs.100 Cr. N Cumulatwe deposﬁs L
1X Insurance Act o -.‘Tele Bankmg .
Q1b.) State the followmg stat ments True or False -(Anv 7 out of 10) 7 Marks

i, Obtaining credit card is easier than obtammg deblt card
ii.  ICICI was incorporated in the year.1955. ;
iii.  Micro finance is ﬁnanmal serwce of large quahtlty prowde by financial institutions to the
poor. oA ' ;
iv.  Shifting of risk is one. ofthe methods for handhng I'lSk
v. The prmmple of subrogation is. appllcable to life insurance.
vi.  Life insurance is a contract of mdemmty &
vii.  Marine losses ate clasmﬁed into total loss.and partlal loss.
viii. . RBlisalso playmg arole to regulate msurance sector.
ix.  Personal accident mSUrance will be categorlzed under life insurance.
x. A firm with debt financing has no financial risk.

Q2a.) Whatisa B‘a:nk? What is the need for Bank?

8 Marks
Q2b.) What are the scopes for banking? 7 Marks
Q2c.) Distinguish between public and private sector banks: ~ 8 Marks
Q2.d) Explain the functions of commercial banks. 7 Marks
Q3a.) Explain the types of ;bank accounts. 8 Marks
Q3b.) Differentiate saving account and current account. 7 Marks
OR
Page 1 of 2
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Q3c.) Explain the role and functions of RBI over banking compar;@ég
Q3d.) What is licensing of banking companies? What are provisions i
license to start a bank? Rl

Ny

What is risk? What are different types of risk in business?

v

Q4a.)
Q4b.)

Qdc.)
Q4d.) What are the basic principles of insurance?

Q5a.) What is IRDA? What are the objective

'8 Mark
fe P <
Q5b.) Explain the claim and settlement

; “i?‘iMarks

el
!

Qs) W Notes 15 Marks
a. Marine Insurance
b. Risk management

c. Financial Literacy

Page 2 of 2
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Fyge) Sem-T1

Qt P Code 3»;42% S

Total marks: 75 | Time allﬁwed z % brs. S

3

NOTE: 1. Use of simple calculator is allowed : '? : “‘
2. All questions are compulsory subject to internal gﬂgiik__:e =, 3 ; _' ; ,
3. For questions 2 to 5, attempt either A and B orCaI\xﬂYD '«& 4 " '

4. Figures to the right indicate full marks '"';.t.' Wb

Q1 A Fillin the blanks choosing the correct altematﬂres (any seveh) G R
1 If we reject Ho when Ho is actually false, thcn We are COmm lttmg R
error. TP AR e
(a) Type 1 (b3 Type Il : A P RN
(c) right (d) Poth . 85 O 8 o “
2 The linear function z Wthh is tc: be mmlm:zed or maxtmized ina LPP 1s
called & A oy
(a) Decision varlable (h) objgcuVe functlon o
(c) optimum ﬁmctmn (d) loglcal function &_:ﬁ'-‘ ERLA
3  If the determinant ofaaquare matr(x 1$°Zero the,n ‘thé matrix is caIled
matmf S g D e e £
(a) singular -~ = :_,7 (b) non-smgular G fod
(C)umit TR (dhem
4  The inverse ratlo of &5 4s LAt
(8) BAS 0 O DA (B, 10 g
()5 4 R . {d) none c:f»thése;
5 If075x 581henx1sequalto e
<&@k l2 S |8 57!
ORI T D E
6 15% of475 is LA, S e Y B
T e 49, SO {) 5
<o KK 792 ) 2(d) 7125
) 5Py 'Infrastructure faoﬁmes cahmst of Rk
2 (@) Railways - 3 (b) inflation
AT E) eonie.y < ¥ ~ (d) real income
8 ,A matrix is said to be zero matrlx if all the elements of the matrix are
(a)oncs o€ W e S(b) zeros
gt N2 AQPIWDF Q7L B (d) three
e g 'In snmplex method the lntérsectlng element of key row and key column is
ot jknow:: as. < 5.0 element
(a) Key " (b) non-key
“H6). lmtlai . (d) none of these

: f:."lQ The dlfferencé between all receipts(revenue and capital) and all
e ;i-”‘ \expend“ltures (rpvénue and capital) is called the
Ay ‘Budgetary deficit (b) budgetary profit
= e) fiscal deficit (d) fiscal profit

Pagelof4
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Q.P.Code:32427

5 - 3 3 P ¢ 4 T
< S

B  State whether the following statements are True or False‘(amy e'lght) '17"3;3 .
The hypothesis reJectmg the null hypothesis is called wrong hypothesis. =~ - =
Linear programming forms the basic foundation for ammp‘ot{mt branch of R
Mathematics and Statistics called Operational Research.” .=« = o7 &0 o o0 o o
A matrix of order 1Xn is called a column matrix .- SIS et o
Fourth proportion to 6,10,21 is 35 SO TP TS DI AT

A
S
J) €3

%

~

Percentage of fraction 3 / 4 is 25% SRR S T

Constraints are the restrictions on the use of llngited resources - - “a ‘
Railways, roadways , hospitals are not included in infrastructure - S L
GDP growth rate is one of the most 1mportant e,oonomxg mdwam of a A
country’s economy v : B D S O
NNP is GDP minus depreciation &< ¢ o r 2 S SF L SO 00

10 Test of statistic is used to decldcwhether to ac'.tfept ot mjeq Ho

0~ O\ W

a  Solve the LPP graphically <~ 'v'..,x“':” R e P S !
Minimize z = 8000x + lZODOy i D B
subject to x+ 3y > 30 . P \« R L I i >

3X+4y>60 N .i*"_kl':-" o £ if- e L =g
x y> 0 Y o, o v K . '-.:‘r ..‘.. v = _"_ ’_

b Suppose an editor Qf a publ!sﬁmg CQmpany clamb {hatthe mean time to 8

; write a text book s 15 months. A ‘sample ofdl Glexzbeok au{hms is
randomly selected and it is' found that the. meanti{ne faken by them was
12.5. Assume the standard deviation as 3.6 and usiig 5% level of
sngmﬁcance weuld yeu concluae the edltor*‘s claim. :su-ye?

S RTS8

¢ Solve: the follong using s:mpleﬁ method & 10
Maxam&si«ﬁ 9x;+13%; . T
-Subject%olm‘*?x: L l8 QYo

| . +x,r~< m e AT A G

o R xl 4 xz’>0 >

A manuf&‘;turer producas tWB types of steettrunks He has two machines 5 Q‘

A*and B. the first type-of- trunk requnres 5 hours on machine A and 3 hours

- +in machin¢ B. The sécond type requires 3 hours on machine A and 2 hours

on machine B. Machme Aand B can-'work at most for 24 hours and 15
_hours-per day respectivélx He earns a profit of Rs.30 and Rs.25 per trunk
~on, the first: t}zp!: and second type respectively. Formulate the LPP to make
th“e maxxmumproﬁt :

} ﬂ-a‘::

. n -

y—

"a A B gnd ol mveated Rs 10000 Rs.20000 and Rs.30000 respectively ma 7
" ‘busmesi.‘ ‘At the end of the year B received Rs.3000 as his share in the

" profit. Find the total profit. Also find A’s and C’s share of profit.

Find the inverse of the matrix 8 k.
S _A‘-"'".;Q*]':r‘"*2'-'" 2
SIS0 |
S 1

/
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O.PCode 32427

-

OR S s

¢ Food I contains 3 units of vitamin A and 1 unit of vitamin By Food If > = ¢
contains 2 units of vitamin a and 3 units of vitamin B, If the'daily~ - 7 o S
requirement of vitamin A and B are 12 and 11 respectivé!y.“,A;'-F\ranquté;t‘he.; AT B O S .
problem into a system of equations. Solve the systems.ﬁf%gﬁudtfgfﬁ;’by'_:,L-“_,_f"___‘ Rl |
matrix method and hence find the amount of Food | ,and‘iﬂ;tf‘ga_?t,w;ill’-ﬁatisfy' D 0f
the daily requirements % NP S Ao S

d A 9% loss was incurred by selling an afticle at Rs;. 11648, Find e selling & 50 o o
price if the article was sold at 6%loss. - V5 LSS QNS F A S

T >

. { /
~N
M, i ~

J ) PR P oy Py
XN L3 L ‘\-". a” ‘_\‘, Vo g, I

Q4 a  Aninvestment expert has studied past dataaddconsmlptﬁdthéfdlowmg {ia)
table of five possible states of econo _Wiihregl.’i‘éspm"ﬂﬂflg" probabilities - =~
and the return of two shares A and B under these states ,Ofeégfiﬁ?m)‘;lp Ind 5o s s
and compare the expected return of botly the shares > - E S
Economic Probabilit_y;:. o] Rgtt;ﬁis df e .
conditions e S Sharg A (%)
E2 0.3, Ao
E3 | L A0 5.
E4 POF 5 8 U . SR
ES TP S S ¥ SENEACIC) oY o _
b From the following information calgulate Beta of a seourity- 8

: I !Ré;]:}i_l‘jfliqh;Market
Wy > S XS S ortfolio (%

N G g ) YO

o respectively.

W oy
o

o iy BN s J:Share X(%

s _:\‘.-\‘ 4 " \\‘ ‘-\k R ~ -\l » : _..—\-\ ) £ t e e ", -
¢ “Twaoshares X and. Y-arg'in portfolie in the ptoportions 80% and 20% 10
réssion” 0.1 TR 3

IRIATE S S

Returns of
Share Y (%
ot NN

&k AR S T |

OB | 'Bxijl:gtegi retum from share X
ST S (@) Bpected returt from share Y
AT T ,'j(3‘)~\:~"1:9targi§k of share X
¥ ke 5 (4) Totalisk of share Y
S Covatiance of return from share X and Y
£ P +'(6) Expected return of the portfolio P
e (7)Total risk of portfolio P
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Q5

o

0G0 o

Give the fomuia for the total risk in terms of systematlc and mwystem ic.
risk. Find s ¢ risk if unsystematic risk is 11.85 and the«tdtalirfsk p

56.25

Define GDP, G!@M,NNP
Explain briefly electricity generation in mfrastructure g
In a big city 325 men out of 600 men were found to be Sthqkex% Qees th}s

information support the conclusion that the mﬂty of menqn %hivs ﬁty are

smokers? Use 5% level of significance. .~ 5 -

OR ?;i'; S AN
Attempt any three questions ,“"“c";f\ FER S E
Explain in short the m s of ﬁbﬂqﬁsnppfx‘;‘m eir
formulae ,:‘j,c‘ e = S8
Explain duality in linear program an éxam
Explain any 3 different types of matrice
What are Type I and Type Ik errors? Exj
Explain trade balance, cam’t&ﬁgé@d‘

—@"
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F4BB) Sem- T

Q. P Coﬂe:’}if)ﬁﬂ o

TIME: 2 HOURS MARKS{75 '
NOTE: All questions are compulsory. R
Figures to the right indicate full marks. " o) 8 o :‘\ e 5

B
AN

QI.A Fill in the blanks with appropriate answer (Any Eighty . © & s 0 (@) &

i) The leadership is at the heart of model,

N a) Autocratic - b) Supportive - i c\:) None of -_t'i';e:s.e‘“ : :
i) profounded theory X and Y ofméﬁ@ioﬁ.’ SEE A S s &
— a) Victor Vroom b) Mgﬁregd ‘% c) Porter&LawIer ‘\: | o
iii) Spiritual Intelligence is popularlzed‘!:!y__qh A , A .T' _- Loy
a) Goleman I))J‘ }fmberg o '*': : q) thgr
iv) A group that is neither fonnaily stnicture& nor orgamsatmnaly detefm:ned 19 cailed as .
a) Formal b) iqfonhal ~ & c) Task- W ‘
v) The acceptable standardscf hehavtof 'w1thh1 a gx‘oup that are shak'ed by grofup members are called as
a) Rolé ‘ f b) Identlty | & c)Norms
e vi) s an mdiwduai s’ beher that he s capable of clomg a task.
5 Leadersmp 3 ) sot Sl " o) Selfefficacy
&4 vn) Conflict. bhtween mo departments of a company i called as__
a) Interpersor;ak ) ‘.: b) Intr&gmup y ¢) Intrapersonal
' vm) s straiegy mdmduat physacally and mentally withdraws from the conflict.
j a) Avoidmg . ; j b) Forcing c) Integrating

' ix) Type people relaxes withoat guilt.

- a)A b BB ¢)C
X) 4 15 the proeess of expressing thoughts and feelings while asking for what one wants in
.an approprlate way; ,
. a) Leadershtg P b) Motivation ¢) Assertiveness.
: Page 10f 3
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Q. P: Code: 32900
Q1.B State whether the statements are true or false (Any Seven) Pt ; : (N

i) Kinesthetic intelligence is the control an individual has over fi ine and groas metor actwns\ 5
if) A command group is composed of individuals who report directly to gwen manager o )
iii) Soft skills land us our first job but hard skitlshelp in building ca.rber PPt A s ‘
iv) The study of societies to learn about human beings and their: actmtiés lscaﬂed as‘psychology e
v) Existence needs are similar to physiological and safety needs SR f«‘v 3 ~

vi) Cohesiveness refers to degree to which group members aré attract!d to each other
vii) The blind self mc]udes those aspects of our persopahty whiCh ls\knawn to ail

el e Sl S R
“-. Y, TS, Ry e

viii) Conflicts may be constructive or destructive. - - ,j' '_ -‘j_ .
ix) Sabbaticals increase the stress. ;?‘ oA el o ~f~ 4 , 3 ‘ \
x) In the unfreezing stage of change, old ideas, m‘Q kept as:de S0 that new. ideﬁs can be leamed
Q2.A. Describe theory X and theory Y of motWatlQﬂ e S SV oo L, (8)
(B) Define Organisational Behawour,‘State the models of Orgamaatlonal Behawour Sl (7N
W A S e o F S - S s ) ’»x' @
on & - e, £ W R Y S
Q2. (P) Write a note on apphcatlon of mOti\“r‘atlonal theones ; \ \ '_»'- : ._ ' (8)
(Q) Describe the _|Ob characterlstlcs models as a method of lob ennchment (1)
Q3. (A) What is Emotmn{il mteﬂlgence? Explam ' ." “ (8)
(B) Descrkbe how ateam Can be created DL S (7
SRR OR T ;4',_ Ao
Q3. (P) Whar mmemt by cms culturai skllls? Iy =, (8)

(Q) What can bc leamt fmm Jahan\Wmdow? State ihe benefits and limitations of

_ seifxixs"d}ésure\ v \- B S _,f A 0
e Q4 (A) How h work culture is mamtamed in the organization? (%)
(B) Draw and explan;thc model of conﬂict )]

Q4~ (P)Des;:r}m the sources Df stress (8
(Q)Sthte the reasﬁ;r;s for réglstance to change. @)

: Q5. (A) Explnm thé esseﬁttal aspects of Organizational Development. (8)
B)) State the benef ts and limitations of Organizational Development )]

;“*’A-a. » Page 2 of 3
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